PARTS LIST
PART NO.[QTY. DESCRIPTION
=~ MASH TEST LEVEL 3 (TL-3) LENGTH OF SoftStop® TERMINAL (509 1/2") 'I“NQSTTEA'LL SoftStop® PARALLEL TO ROADWAY. 8832;; 2 ;?Jfféi‘;i@ <85
| WHEN OFFSET IS REQUIRED BY DESIGN ENGINEER, CENTERLINE OF POSTS #0 & #1 006777 | 7 |KING BLOCK
SEE SoftStop® MANUAL FOR REQUIREMENTS. LENGTH OF NEED BACK OF POST #2 - #8~ \ 015000 | 1 [6'0 SYT PST/8.5/31" GR HT
‘ \ o \ 015200 | 1 |SFST-ANCHOR G.RAIL 126"
- V \ - 015201 2 |SFST-ANCHOR ANGLE
[ i é R ,, ein By ﬂ 015202 | 1 |SFST-ANGLE STRUT
== = s — e e e B 5 7 S 015203 | 1_|SFST-POST#1 SYTP
| ; e 015204 | 1 |SFST-ANCHOR PADDLE
| | C . B 015205 | 1 |SFST-POSTHO
p— 015206 | 1 |SFST-PLATE WASHER
015207 | 1 |SFST-KEEPER PLATE
| 015208 | 1 |SFST-IMPACT HEAD
| ® ® 3
1 ~ HARDWARE ~
‘ | | | | | | J— | 003240 | 6 |5/16 ROUND WASHER WIDE
\ 003245 | 3 |5/16 HEXNUT
| | 6'-3" 6-3" 6-3" | 6-3" 6-3" | 6'-3" 5'-8" 47 003340 | 41 |5/8" GR HEX NUT
003360 | 32 [5/8"X1.25" GRBOLT
‘ SEE NOTE 6 | REFERENCE LINE 003391 1 [5/8"X1.75" HEX BOLT A325
i PARALLEL TO GRADE 003500 7 |5/8 GUARD RAIL BOLT x 10"
F G | 003701 | 4 |3/4" ROUND WASHER F436
} iR iR . i - ) =0 e . P = 2 o 003704 | 2 [3/4"HVY HEX NUT A563 DH
f g & _ v .- N - " - a - = = le *—E 003717 | 2 |3/4"X2.5" HEX BOLT A325
.| 2 i . i % s 3 A : 003908 | 1 |1"HVY HEX NUT A563 DH
iy | A 004372 | 4 |5/8" WASHER F436
| 000011 ; 000011 ‘ 000011 015200 ""\ll 015208 | 004489 | 1 |5/8'X9" HEX BOLT A325
- _ \ - , N 1 004902 | 1 [1"ROUND WASHER F436
‘ NN IO NI, >‘ 9 105285 | 2 |5/16"X2.5" HEX BOLT GRD 5
‘ 4065286 4 SR HEX BOITGRND 5
DO NOT ATTACH- %
RAIL AT POST #2 : e 5N
: / | @ |l . g;gfa WASHINGTON STATE
s
/ ! l 3 v{{&-’ DEPARTMENT OF TRANSPORTATION
<J AT \« ‘J @
F
003704 ——— 015207 // \\ 8 K ADDI’OVGd

003701
015204

105285
2 PLACES

003240

2 PLACES
\ Ny
\ \I'_"
015206 \ 003240
oy 015204 / 2 PLACES
\ \ ]
015200 4"1\
FLATTENED £
(4 PLIES) =
3
o
o
7
015202 /

(ORIENT SO VERTICAL LEG IS DOWN)
POST #0
DETAIL A

NOTES:

1. REFER TO SoftStop® ASSEMBLY MANUAL.

2. PROPER SITE GRADING SHOULD BE ACCOMPLISHED IN ACCORDANCE WITH
LOCAL SPECIFYING AGENCY GUIDELINES AND THE AASHTO ROADSIDE
DESIGN GUIDE.

. DO NOT ATTACH THE SoftStop® DIRECTLY TO A RIGID BARRIER.

. UNDER NO CIRCUMSTANCES SHALL THE GUARDRAIL WITHIN THE SoftStop®
BE CURVED.

. MANUFACTURER SUGGESTS CUSTOMER TO PROVIDE REFLECTORIZATION
OF THE TERMINAL.

. IT IS ACCEPTABLE TO INSTALL THE SoftStop® IMPACT HEAD PARALLEL TO THE
GRADE LINE OR WITH AN UPWARD TILT. SEE SoftStop® ASSEMBLY MANUAL FOR
SPECIFIC DETAILS.

oW

004802

003908

1" NUT SHALL BE
SECURELY TIGHTENED
AFTER FINAL ASSEMBLY,
BUT NOT DEFORMING THE
KEEPER PLATE (015207)

015204 004489

015202 015201
004372 Y,
\\ 105285
2 PLACES K \t o
= 003908
. N
1
e e
F J
015200 / 015201 _~
015204
DETAIL B 003340
(AT ANCHOR POST#0)
015208
015202

RN

p

003391

004372

105286
—

003240

004372

003245

015203 015208
003240
015203 .|
DETAIL C
(POST #1, SHOWN NEAR GROUND) DETAIL D
(POST #1)

|
\J\
!
/ YIELDING HOLES
-

APPROXIMATELY
CENTERED AT

GROUND LINE

DETAIL |
POSTS #1 & #2

O Approved with revision
1 Rejected

E Sp—— DO NOT ATTACH - —
I RAIL AT POST #2 —
003500 2‘ - K = ~
000011 B ] 015200 -
S ‘ ]
. 003340 : o] S0san
3 I L /
5 S ooe777
2 ﬂ/ ~_ 000533 & 015000
| i
T S RLK e
SN A SRR N
SECTION F-F SECTION G-G
(POST #3 - #8) (POST #2)
"SEE PARTS LIST BT G1/14/2012]  TOLERANCES PER
SRS o CEMC-THP-SF-001, UNLESS ® " e e
D o1 SoftStop® TERMINAL (8" BLOCKS)
(A s | OTHERWISESPECIFED. | “py o, ELEVATION & SECTION | WI”
: S MO | B NGT SCALE DRAWING MASH TEST LEVEL 3 (TL-3)
Revision ECO Date [Rsv| By |Chk. P/N: 5006468 TRINITY
ADDED REFERENCE LINE AND NOTE & m——— 11211156 4 MB RT : -
SITE HOLE CALLOUT AT DETAIL B - 5/08/15 | 6§ | BT | RT N - .
ESTIVATED WEIGHT: __ 1221.7 rmass s aonces moty s, & meinney | 4103 | rorrss| o [op[wow| 3 @) sSeds | 1 ot
CEMC-THPA

£-052 Rev B, 9152015

© 2012-2015 Trinity Highway Products, LLC. All rights reserved.




